A PeoktnctoB 1969

A. flpocnasuesB 1950 (Bepcus)
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B. WaHnbwuH WaxmaTtebl B CCCP 1984
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= M W e M M = 0

#6 8+7)

1. c4 [1.0] e5 2. (b3 veb6 3. c5 dc 4. bc
ya5 5. ac4 [1.0]

1...I'e5 (I'd4) 2. g7 I'g7 3. yb8 Tc3 4. !c3
e55.ac7 [1.0]

1...096 2. c5dc 3.d7 cb 4. |b7 ya5 5.
ac4d [1.0]

1...Tc32.!c3 g6 3. c5dc 4. !c5 ve5 5.
'e5 [1.0]
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B. Ko3bipeB 1977
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a b o d e f 9 h

+ 4 +4)
1.ac3[1.0]
(1. 5g3 g5 2. yh5 (2. yh3 ©f2) 2...
0f6:)

1...8c3 2. d6 g5 3. yh3 [1.0] =d5 4. d7
[0.5] (4.yg4 ob4 5. d7 ac6=)

4...af4 5. yg4 ce6 6. I'b6 [1.0] b4 7. yf5
b3 8. ye6 b2 9. d8J ye2 10. I'e3 [0.5] b1J
11. Jd2 yf3 12. Jf2 yg4 13. Jg2 yh4 14.
yf6 Jal 15. yf7 Jc3 16. Jg5 yh3 17. Jf5
yg2 18. Jf2 yh3 19. Jf3 [1.0]
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M Tanb 3 lNorocsHy 1969 - MNMycTto
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1. nd4 ye1 2. Jh2 [1.0] yd1
(2... Jf2 3. ©c2 ye2 4. Jh5 yf1 5.
Jh1 Jg1 6. Jf3 Jf2 7. we3 yg1 8.
Jd1 [1.0] yh2 9. ng4)

3. Jh7 ye1
[3... Je1 4. yb3 Jf2 (4... Jd2 5. Jh1
Je1 6. Jh5 e2 7. uf3) 5. Jb1 yd2 6.
Jc2 yel 7. Jc1X]

4. Jh4 [1.0]
[4. Jed yf2 5. Jf3 yg1 6. ne2 yh2
7. Jf1=]

4... Jf2
[4... yd1 5. Jed Je1 6. yb3 Jf2 (6...
Jd2 7. Jh1) 7. Jb1 [0.5] yd2 8. Jc2
ye1 9. Jc1X]

5. nc2 ye2 6. Jh5 yf1 7. Jh1 Jg1 8. Jf3

Jf2 9. me3 yg1 10. Jd1 [1.5]
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Zdravko Maslar, Feenschach 1986 (v)
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a b o d e f g9 h

h#3 2 solution 6+7)
1.Tb6 !h1 2.I'gl I'd1 3. yfl1 !g1X [2.5]
1.!gb6 I'n7 2.!g6 !c2 3.yd3 I'g6X [2.5]
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Helmut Zajic, Die Schwalbe 2005



a b o d e f g9 h
h#5 (6 +9)
1.c4 dc 2.d3Tle7 3. Te3 I'h4 4.yd4 fe 1. F'a7 uyrusaHr [2.0]

5. ye3 I'12X [5.0] 1...'b32.!d7 !b6 3. ye5 e6 4. !g7 [1.5]
1...1a4 2. |c4 a7 3. g3 yf4 4. e5 [1.5]
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Eugeniusz lwanow, Problemista 1967
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s#2 9+7)
1. uc4 (,2. nd2+ [2.0])
1...jc~ 2.Je3[1.0]
1...!d5 2.0b6[1.0]
1...'c4 2. ob6 [1.0]

12
Vladislav Bunka, Rex Multiplex 1986



(21 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
10|H#5 952| 0.24 1 0 12 8
6| #6 904| 0.48 0 6 12 3
8| + 858| 0.71 0 12 6 3
51 #4 848| 0.76 1 4 13 3
12| S#4 776 1.12 4 1 9
9 |H#3 762 1.19 5 0 8 8
4| #3 676| 1.62 2 9 10 0
3| #3 590 2.05 6 5 10 0
71 + 586| 2.07 4 11 3 3
11|S#2 428| 2.86 12 0 1 8
1| #2 286 3.57 15 0 6 0
2| #2 1421 4.29 18 0 3 0
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